e

Flywheel Alternators By Engine Model

MODEL

AENL

AENL

AGND

AGND

S10D, S12D, S14D
S10D, S12D, S14D
THD, TJD

THD, TJD

MVF4D

VE4D, VF4D
VE4D, VF4D
VG4D

VG4D

VG4D

VG4D

VH4D

VH4D

- VH4D

VH4D
VH4D
W2-1230, W2-1235,

- W2-1250

W2-880
W2-880
W4-1770
W4-1770
W4-1770

DESCRIPTION ' PART NO.
10 amp alternator Circuit.........cooev...... emmesanemsemseli ENA123
25 amp alternator Circuit ..........coooeeeeeeeeeeeiiiiiennnns ENA124
25 amp alternator CirCuUit ........cccoceeeviveeeeesceeieeeenn. ENA102
10 amp alternator CirCUit.......cc.coeevvveeeervieivniiineeens ENA103
10 amp alternator Circuit.........ccccveveeeeeeeiiicieeeeeeene ENA127
25 amp alternator Circuit ..........cooeeeeeeeeeevcerreenieee, ENA128
25 amp alternator Circuit..........ccccoeeeeveeeccerreeeeeee, ENA100
10 amp alternator CirCuit ........c.cceeeeeiiviieniiiiniinnennnn, ENA101
15 amp-24 volt alternator circuit ..............ceveeeee ENB101
30 amp alternator circuit.......coeeeeeennnnne. B ooy ENA100
T0-amip aernator CIrCHIL ... uicisisssssssssiasunsuonss ENA101
25 amp alternator circuit....... S e ENA120
10 ampatternator CIECUIL ..o mmasvinssassio ENA121
Obsolete 10 amp/25 amp alternator circuit .......... —_———
30 amp altermator CICUIL. ... ciuusrmssessoismasiansss ENA132
30 amp alternator CirCuUit ..........coeevvvveeeeeeninnreneenn, ENA100
10 amip: SHEMNMALOr CIFCUIt .oc.voccirvssiariisesnanmrseses S ENA101
25 amp alternator circuit............ ST RS JOE ENA120
10 BEDD AEMBAOT CICLIL o iininsississumsssanssinsraniase ENA121
30 amp alternator CirCUIt.........oeeeveevvrieeeeeiiinnreeenn. ENA132
o0 SrOp BIOMBTOr CIIEUR oo swasisaurrommmsnnrms ENA130
25 A BHEMAIOR CIFCUHL ... i onismmsisvesseupmmosbusnss ENA100
10 amp alternator circuit................. eveerreenirneerenn ENATOT
25 arp-altematar CIrCUR ... s msnvssimsisanerse ENA120
18- 8rop SHEMator SCHIL s vsimmpwimarsmmsssspmmii ENA121
30 amp alemMator BirGUIt......cuarasmsmiapssrpsais ENA132

Wisconsin Alternators




Flywheel Alternators By Part Number

PART NO.

ENA100
ENA101
Obsolete
ENA100
ENA101
ENA100
ENA101
ENA102
ENA103
ENA120
ENA121
ENA120
ENA121
Obsolete

ENA123
ENA124
ENA127
ENA128
ENA130

ENA132
Obsolete
ENB101

DESCRIPTION MODEL
25 amp alternator CIrCUit ..........cocovvviiiiieceiiii e, THD, TJD
10 amp alternator CirCuUIt ..........coocvveiviiiciiieiiiec e, THD, TJD
10 amp alternator circuit ..........ccooeeeiiiiiiiiiiieennnn e THD, TJD
25 amp alternator CirCUit .........coovevieerieeeciiie e, W2-880
10.amp GRernator CIrCU . s o mruaimmmiitninssue W2-880
30 amp alternator CIFCUIE .......ccmsummenmercrirsaes VE4D, VF4D, VH4D
10:amp - alteMmater CITCHIT « s s VE4D, VF4D, VH4D
25.amp altRMAator CIFCLAL ....c.nmaiosmmmsmsisssvsidasomssssssres AGND
10-ami alternatar GIeUIT. osssssisumnimsimevicsmppmoion AGND
25 amp alternator circuit ................ S W4-1770, VH4D
10 amp . altemator BIrCUIt s iniommmmnsssss W4-1770, VH4D
25 amp alternator circuit ...... A R S AR T A VG4D
10.amp ghernalor Iretit ;s st VG4D
10 amp/25 amp alternator previous to

sorial noy BIBB2BE ..o annlhminammmsvndl S VG4D
10 amp-alternator SirCUIt . ...cmummbussssss s AENL
25 amp alternator circuit ...........cccccoueeee NI WO N AENL
10 amp alternator CIFCUIT . wessmmmimsssmm: S10D, S12D, S14D
25 ampraltemator CIrcuit . smsmsmsss 310D, §$12D, $14D
30 amp alternator

oo |1 W2-1230, W2-1235, W2-1250
30 amp alternator circuit ............ccceeeeee. VH4D, VG4D, W4-1770
10 amp/30 amp alternator CircuitS.......c..coceeevvecncnnnee. All Models
15 amp-24 volt alternator CirCuits..........ccvvvevieeeieieeniennnn. MVF4D

Wisconsin Alternators



ENA100 (25 Amp),

ITEM PART NO.
1 N102-5

- N102-9

2 SD293

3 YJ68

4 YJ60

5 XA8

6 PE78A

7 PD115

8 BD103J181
9 YD350

USE WITH MODEL W2-880

DESCRIPTION aTy

Flywheel assembly, 10 amp
(includes rotor and ring

[+ [T ] RO 1
Flywheel assembly, 25 amp
(includes rotor and ring

[+ -1-1 . [ 1
DeCal..coeemererrreneeneecnrecsnsnnns 1
Rectifier ....coccsiiininniiniiniianies 1
Regulator module ........oueeee. 1
Screw, no. 10-32 thread x

/2P 1ONG sisccisisesnsssssssonsssosivins 4
Lock washer, no. 10 .............. 4
Nut, no. 10-32 thread ............ 4
Gear cover assembly,

W2-880 ....occererenereccrisnsssnsanasenns 1
Ammeter wire insulator........ 1

ITEM

10

1

12
13

14

PART NO.

YL381-14
YL380-14
YB81
YB82

PE14
XB113

XB106
PA368

PA340

Wisconsin Alternators

ENA101 (10 Amp) Flywheel Alternators

DESCRIPTION QTy

Wire assembly, 10 amp ........ 1
Wire assembly, 25 amp ........ 1
Stator assembly, 10 amp,

BB WG uiciiviisiaminsimscms 1
Stator assembly, 25 amp,
5/8" Wide ..ocerernerennrassnsnennnns 1
Lock washer, no. 10 .............. 4
Screw, 10 amp, no. 10-32
thread x 3/4" long ........ceccevee 4

Screw, 25 amp,
no. 10-32 thread x 1" long ....4
Roll pin, 10 amp, 3/16 x

G g (o] |+ R 2
Roll pin, 26 amp, 3/16 x
I - Sl 1 T2 T T 2




e—

ENA100 (12 Volt - 25 Amp), ENA101 (12 Volt — 10 Amp) Flywheel Alternators
USE WITH MODELS TH, THD, TJD

NOTE: Beginning with engine serial no. 5188288 a new two module altern
that included an isolation diode module, and the two unit system without
been modified and are not jnterchangeabla with the old unless both are ¢

ITEM

1

[V ]

w

'S

PART NO.

N102-5

N102-9

YJ68
YJ58

. YJ&7

YJ59
YJ60
YD350

- DESCRIPTION QTy
Flywheel, 10 amp
(includes rotor and ring
2 [=1: 15 RSO DOS 1
Flywheel, 256 amp
(includes rotor and ring
o [-1: 1 o SRRSO PPN 1
Rectifier module .....c.ooeeevnrnen 1
Rectifier module (previou
to serial no. 5188288) ............ 1

Isolation diode

(not illustrated) (on engines
previous to serial no.
BABB2BB) .ccisiissninssinsisnsisesnionn 1
Regulator module, 10 amp...1
Regulator module, 25 amp ... 1
[[3T=TV] 1] (o ] g 1

ITEM PART NO.

5
6
7

BD103JS1
YL381-14
YL380-14
YB81
YB75

= YB82
— YB76

8 XB113
—_ XB106
9 PE14

10 PA368
- PA340

Wisconsin Alternators

ator system replaces the previously furnished three module system
the isolation diode. The Rectifier module and stator assembly have
hanged. The obsolete parts are identified by serial number.

DESCRIPTION QTy
Gear cover assembly ............ 1
Wire assembly, 10 amp ........ 1
Wire assembly, 25 amp ........ 1

Stator assembly, 10 amp....... 1
Stator assembly, 10 amp
(previous to serial no.

R E: i o ) O ———
Stator assembly, 25 amp ...... 1
Stator assembly, 25 amp
(previous to serial no.

5188288) ....ccoccesisrnsrsrsarsnsnninens 1
Screw, 10 aMp .....ceceeeicnninnanns 4
Screw, 25 amp .oeceecsennresnenes 4
Lock washer, no. 10 .............. 4
Roll pin, 10 aMP .ecceveeerrenessnens 2
Roll pin, 25 aMp ...cccceevereecanes 2




. ENA100 (12 Volt - 25 Amp), ENA101 (12 Volt - 10 Amp)
Flywheel Alternators With Combination Rectifier-Regulator (Obsolete)

USE WITH MODELS TH, THD, TJD

NOTE: Beginning with engine serial no. 5188288 a new two module alternator system replaces the previously furnished three module system
‘that included an isolation diode module, and the two unit system without the isolation diode. The Rectifier module and stator assembly have
been modified and are not interchangeable with the old unless both are changed. The obsolete parts are identified by serial number.

ITEM

WN =

00 ~;moO

PART NO.

YJ56
YL381-14
N102-5

SE135AK5

PA368
YB72
XB113
PE14
BD103JS1

TO AMMETER

DESCRIPTION QTy
Rectifier-regulator module ...1
Wire assembly ........couvniinnnns 1
Flywheel assembly

(includes magnetic rotor

and ring gear) .......oveeeunensiiens 1
Flywheel shroud

(not illustrated) .........coesunrens 1
[ 10 [ 1N o 11 o 2
Stator assembly ........cccveeneene 1
Screw, no. 10-32 thread ........ 4
Lock washer, no. 10 .............. 4
Gear cover assembly ............ 1

-3-

Wisconsin Alternators



ITEM

lmmalww

ENA100 (12 Volt - 30 Amp), ENA101 (12 Volt - 10-Amp)

PART NO.

N101-6

N101-10

YJ58

YJ59

YJ60
YD350
BD100K4S1
YL381-14
YL380-14

Flywheel Alternators (Obsolete)

USE WITH MODELS VE4D, VF4D, VH4D

DESCRIPTION

Flywheel, 10 amp

(includes rotor and ring

o [-T: | R 1
Flywheel, 30 amp

(includes rotor and ring

| 1
Rectifier module .....c..ccucneenee 1
Regulator module, 10 amp...1
Regulator module, 30 amp ... 1

INSUIALON ....ccceeeeecreriiierensanns 1
Gear cover assembly ............ 1
Wire assembly, 10 amp ........ 1
Wire assembly, 30 amp ........ 1

aTy

ITEM PART NO. DESCRIPTION QTyY
7 YB75 Stator assembly, 10 amp......
— YB76 Stator assembly, 30 amp.......
8 XB113 Screw, 10 amMp .....ceercnrennennes
— XB106 Screw, 30 amMp ...eeecnnnnnennes
9 PE14 Lock washer, no. 10 ..............
10 PA368 Roll pin, 10 amp ...ccccececcveenns
- PA340 Roll pin, 30 amp ....c..ccevvenene
— - PD115 Nut, no. 10-32 thread

(not illustrated) .......cccccermnrnnes
— PE78A Lock washer, no. 10

(not illustrated) ......ccccccvrueneee.
— XA8 Screw, no. 10-32 thread

(not illustrated) .......cccoueuenen.

-4-

Wisconsin Alternators




ENA100 (12 Volt), ENA101 (12 Volt) Flywheel Alternators (Obsolete)

USE WITH MODE

12 VOLT - 10 AMP

ITEM PART NO.

1 Y.J56

2 YL381-18

3 N101-6

4 PA368

5 YB72

6 BD100K451

TO AMMETER

LS VE4D, VF4D, VH4D

12 VOLT - 30 AMP

DESCRIPTION QTY | ITEM PART NO. DESCRIPTION QrTy
Rectifier-regulator module, 7 PE14 Lock washer, no. 10 .............. 4
10 @MP covecrerrnsnssnsresmsansnranssssees 118 XB113 Screw, 10 aMp .....ceevnieininens 4
Wire assembly, 10 amp ........ 119 N101 Flywheel, 30 amp ...cc.cvceeneee 1
Flywheel, 10 amp 10 PA340 Roll pin, 30 amp .....cccccruennne 2
(includes magnetic rotor 1" YB67 Stator assembly, 30 amp ...... 1
and ring gear) ........oeemesenenes 112 XB106 Screw, 30 amMp .ccceeeeenenisiennns 4
Roll pin, 10 amMPp ....ccevereesunnns 2|13 YJ4981 Rectifier-regulator module,
Stator assembly, 10 amp....... 1 b {1111 1 « OO 1
Gear cover assembly ............ 1
-5-

Wisconsin Alternators



ITEM PART NO.

1

oW N

wWoNm

ENA102 (25 Amp), ENA103 (10 Amp) Flywheel Alternators
USE WITH MODEL AGND

N103-5

N103-9

SD293
YJ68
YJ60
XA7

PE78A
PD115
BG343S1
YD350

DESCRIPTION QTY | ITEM PART NO.
Flywheel assembly, 10 amp 10 YL381-18
(includes rotor and ring _ YL380-18
[+ T-1:1 OO 111 YB81
Flywheel assembly, 256 amp
{includes rotor and ring —_ YB82
= 1-1: 1 [N 1112 XB 113
B 77T, | [N . 1
Rectifier module .......coeveinnnes 1
Regulator module ................. 11— XB106
Screw, no. 10-32 thread x
L V7 1] 1T« O 4 |13 PE14
Lock washer, no. 10 .....ccceieees 4|14 PA368
Nut, no. 10-32 thread ............ 4
Bearing retainer plate ........... 1| — PA340
INSUIALOT ..eeveecerenerieensecsarnenas 1

-6-

Wisconsin Alternators

DESCRIPTION QTyYy
Wire assembly, 10 amp ........ 1
Wire assembly, 25 amp ........ 1
Stator assembly, 10 amp,

3/8" WIde coeeereerrecnsssiisnsinaienanns 1
Stator assembly, 25 amp ...... 1
Screw, 10 amp,

no. 10-32 thread x

77 S 1Y Vo T oppps 4
Screw, 25 amp,

no. 10-32 thread x 1" long ....4
Lock washer, no. 10 ............. 4
Roll pin, 10 amp,

BB K TIB ssiusssisisansuisssuasassasnes 2
Roll pin, 25 amp,

3/16 X 1-1/8 ceeeeererecrenrrrnenens 2




ENA120 (25 Amp), ENA121(10 Amp) Flywheel Alternators
USE WITH MODELS W4-1770, VH4D

ITEM PART NO.

1

g s WwN

0 oodom

N101-17

N101-16

SD293
YJ68
YJ60
XA8

PE78A
PD115
YD350
BD100M1S1

DESCRIPTION aTty

Flywheel assembly, 10 amp,
W4-1770 (includes rotor

and ring gear) ....ccccevenrenieenans 1
Flywheel assembly, 25 amp,
W4-1770 (includes rotor

and ring gear) ... 1
1YY | 1
Rectifier module .......ccveueneeee. 1
Regulator module ................. 1
Screw, no. 10-32 thread x

177l [ 1T AP 4
Lock washer, no. 10 .............. 4
Nut, no. 10-32 thread ............ 4
INSUIALON vocvveeeerrenrseresannennnesas 1
Gear cover assembly ............ 1

10

11

12

13
14

ITEM PART NO.

YL381-18
YL380-18
YB81
YB82
XB113
XB106

PE14
PA368

PA340

Wisconsin Alternators

DESCRIPTION ary

Wire assembly, 10 amp ........ 1
Wire assembly, 25 amp ........ 1
Stator assembly, 10 amp,

3/8" wide flange.....cccoceeeuerneenn 1
Stator assembly, 25 amp ...... 1
Screw, 10 amp,

no. 10-32 thread x _
< 77 S Uo T o To [ 4
Screw, 25 amp,

no. 10-32 thread x 1" long ....4

Lock washer, no. 10 ............. 4
Roll pin, 10 amp, 3/16 x
TIBNONY isnsssisinssassisscussnmssenrans 2
Roll pin, 25 amp, 3/16 x
1-1/8 10Ng o 2




ENA120 (25 Amp), ENA121(10 Amp) Flywheel Alternators
USE WITH MODEL VG4D

ITEM PART NO.

1

AN

woo-dd

N100-5

N100-9

SD293
YJ68
YJ60
XA8

PE78A
PD115
YD350
BD101BS1

DESCRIPTION QTy

Flywheel assembly, 10 amp
(includes rotor and ring

[o1.7. | o SRR S 1
Flywheel assembly, 25 amp
(includes rotor and ring

QBBT) cciciscssisiinaivrivemnssmsssnnanan 1
Decal....crrecreerrciricssnicinnenns 1
Rectifier module .........c.cceuuees 1
Regulator module ................. 1
Screw, no. 10-32 thread x

12" IONG ecreereressisissssensssnnes 4
Lock washer, no. 10 .............. 4
Nut, no. 10-32 thread ............ 4
INSUIALOr vvvveeeeecrreesnssannsssananns 1
Gear cover assembly ............ 1

ITEM

10

1

12

13
14

PART NO.

YL381-22
YL380-22
YB81
YB82
XB113
XB106

PE14
PA368

PA340

Wisconsin Alternators

DESCRIPTION

Wire assembly, 10 amp ........ 1
Wire assembly, 25 amp ........ 1
Stator assembly, 10 amp,

3/8" wide flange ......ccccceveueennee 1
Stator assembly, 25 amp...... 1
Screw, 10 amp,

no. 10-32 thread x

F/ATIONG .cccisivnsscissnnnmvsvinasssnrs 4
Screw, 25 amp,

no. 10-32 thread x 1" long ....4

Lock washer, no. 10 .............. 4
Roll pin, 10 amp,
3/18 X 7/8 eeeererrerererrnnrnnennenens 2
Roll pin, 25 amp,
316 X 1-1/8ueeeecerrreeeneenecanes 2




Flywheel Alternator (Obsolete) (On Engines Previous To Serial No. 5188288)
USE WITH MODEL VG4D

ITEM PART NO.

1

N100-5
N100-9

YJ58
YJ59
YJ60
BD101BS1
YD350
YL381-18
YL380-18
YB75

DESCRIPTION QTy
Flywheel, 10 amp (includes
rotor and ring gear) .......cc.c... 1
Flywheel, 30 amp (includes
rotor and ring gear) .....ccuueees 1
Rectifier module .........ccceneenne 1

Regulator module, 10 amp...1
Regulator module, 30 amp ... 1

Gear cover assembly ............ 1
F3T-TT1F-) (] SOOI OYP 1
Wire assembly, 10 amp ........ 1
Wire assembly, 30 amp ........ 1

Stator assembly, 10 amp ...... 1

ITEM PART NO. DESCRIPTION Qarty
— YB76 Stator assembly, 30 amp......
8 XB113 Screw, 10 amp .....cueeminnnnnns
—_ XB106 Screw, 30 amMp ..cccovennenneesnnes
9 PE14 Lock washer, no. 10 ..............
10 PA368 Roll pin, 10 aMP ..ccccevvrnvrerenes
— PA340 Roll pin, 30 aMp ...ccccveeecineens
— PD115 Nut, no. 10-32 thread

(not illustrated) .......coeeierennnn
—_ PE78A Lock washer, no. 10

(not illustrated) .......corereenrnnnns
— XA8 Screw, no. 10-32 thread

(not illustrated) ......cccccovuereunnns

-9-

Wisconsin Alternators




ITEM PART NO.
1 YJ56

2 N100-5

3 PA368

4  YB72

5  BD101BS1
6  PE14

7 XB113

Flywheel Alternator (Obsolete)
USE WITH MODEL VG4D

12 VOLT - 10 AMP

DESCRIPTION QTy
Rectifier-regulator module,
10 @MP cocvreremrrsnssserassnsssnsssssens 1
Flywheel, 10 amp (includes

~ rotor and ring gean ............... 1
Roll pin, 10 aMp ..cccvvnnensanenns 2
Stator assembly, 10 amp...... 1
Gear cover assembly ............ 1
Lock washer, no. 10 .............. 4
Screw, 10 amMp cccceeereessernnsases 4

TO AMMETER ~

12 VOLT - 30 AMP

ITEM PART NO.

DESCRIPTION

8 YL381-18 Wire assembly, 10 amp ........ 1
9 N100 Flywheel, 30 amp (includes

rotor and ring gear) ............... 1
10 PA340 Roll pin, 30 amMp .cccecevesssssnens 2
1 YB67 Stator assembly, 30 amp ...... 1
12 YJ4881 Rectifier-regulator module,

e Ty 111 1| o SRR 1
13 XB106 Screw, 30 amp ... 4

Wisconsin Alternators



ITEM PART NO.

EI{DGJ'-IU}O" W=

- I
-

ENA123 (10 Amp), ENA124 (25 Amp) Flywheel Alternators
USE WITH MODEL AENL

SD293
YJ68
YJ60
XA7

PE78A
PD115
BG344S1
YD350
YL381-6
YL380-6
YB81

YB82
XB114

DESCRIPTION QTY | ITEM PART NO. DESCRIPTION QTy
Dacal..commnssnssesiassiians 10— XB110 Screw, 25 amp,
Rectifier module ...............c..e. 1 no. 10-32 thread x 1" long ....4
Regulator module ..........cceeet 1112 PE14 Lock washer, no. 10 .............. 4
Screw, no. 10-32 thread x 13 PA336 Roll pin, 10 amp,
Vil [17) [+ R 4 BB X TIB vivivicmsmusinivninssaninss 2
Lock washer, no. 10 .....ceeencd | — PA362 Roll pin, 25 amp,
Nut, no. 10-32 thread ............ 4 3/16 X 1-1/B...ccrievcnrinninrannnan 2
Bearing retainer plate ........... 1114 N108-2 Flywheel assembly, 10 amp
[[37:17] - (o] R | (includes rotor and ring
Wire assembly, 10 amp ........ 1 (- 1= 1 TP PP PO 1
Wire assembly, 25 amp ........ 1|(— N108-3 Flywheel assembly, 25 amp
Stator assembly, 10 amp, (includes rotor and ring
3/8" wide flange .....c..ccccemreran. 1 GOAK) ocvsvisaisivssiivmnnsiiiistaniass 1
Stator assembly, 25 amp...... 1
Screw, 10 amp,
no. 10-32 thread x
3/4" 10Ng ccoeereerreenernenrenennns 4

-11-

Wisconsin Alternators




ENA127 (10 Amp), ENA128 (25 Amp) Flywheel Alternators
USE WITH MODELS S10D, S12D, $14D

ITEM PART NO. DESCRIPTION QTY | ITEM PARTNO.  DESCRIPTION QTy
1 SD293 3T 1| — YB82 Stator assembly, 25 amp...... 1
2 YJ68 . Rectifier module .................... 1] 1 XB113 Screw, 10 amp,
3 YJ60 Regulator module ................. 1 no. 10-32 thread x
4 XA7 Screw, no. 10-32 thread x J/8” 1ONG <cincincsssimasisisasisoninss 4
12" bongsnnmamimannats 4 | — XB106 Screw, 25 amp,
5 PE78A Lock washer, no. 10 .............. 4 no. 10-32 thread x 1" long ....4
6 PD115 Nut, no. 10-32 thread ............ 4112 PE14 Lock washer, no. 10 .............. 4
7 BG350AS1 Bearing retainer plate ........... 1] 13 N105A2 Flywheel assembly, 10 amp
8 YD350 T4 TTV1 -1 o 1 (includes rotor and ring
9 YL381-18 Wire assembly, 10 amp ........ 1 (021 | L 1
— YL380-18 Wire assembly, 25 amp ........ 1| — N105A3 Flywheel assembly, 25 amp
10 YB81 Stator assembly, 10 amp, (includes rotor and ring
3/8" wide flange ......ceecevrreenenns 1 QEAT) s e 1
-12-

Wisconsin Alternators



ITEM PART NO.

w N

(4]

ENA130

XD51

PE37
PH610

GH57
YB84
XB114

PE14
PA340

PL17
XA77

ENA130 (30 Amp) Flywheel And Flywheel Alternator

USE WITH MODELS W2-1230, W2-1235, W2-1250

& '

£S5 4
,/5’ ’—\' P > v
3 /H’ / iL_ 7
\\
15
14 ‘
13 )
"
127"
DESCRIPTION QTY | ITEM PART NO.
Flywheel alternator assembly 1 YJ70
(includes 5-8, 10-14) .............. 11 12 YL393-24
Screw, 5/18"-11 thread x 13 SA163
T-1/4" 1ONG ceeecreerreereirreraneeens 1114 XA129
Lock washer, 5/8" .......ccevvveees 1
Washer, 15 N111-3
5/8" 1.D. x 2-1/8 x 3/16" .......... 1
RiNg 'gear.....c..cccsmiivmininasi 1
Alternator stator assembly...1 | — N113-4
Screw, no. 10-32 thread x
1-1/8" 10NG ccovrcrerrrreirinsennn b | — N114-2
Lock washer, no. 10 .............. 4
Roll pin, 3/16" x
1-1/8" 1ONG eovrveisrnstrsanssasensssnnas 2 | — N114-3
No. 13 Woodruff key ............. 1
Screw, no. 10 thread x
BB 1ONG  ccciiicinssnsasssnisssnasss 2
-13-

Wisconsin Alternators

DESCRIPTION QTy
Rectifier/regulator module ...1
Wire assembly ........ccoeieennees 1
COVO civiin ssnimssisissssinisansiasien 1
Screw, no. 10 thread x

V20 IoNG cssmnnnnrannns 3

Flywheel assembly (includes
1GH57, 1NC217-3, 1YNS5,

1PA470) (optional) ................. 1
Flywheel assembly with
tap holes ......cccevceriiiirinnennnas 1

Flywheel assembly without
alternator magnetic rotor

(includes item 4) ....c.ccereinne. 1
Flywheel assembly with
1P holes i..sumsinainiiminciisnins 1




ENA132 (30 Amp) Flywheel And Flywheel Alternator
USE WITH MODELS VH4D, VG4D, W4-1770

ITEM PART NO. DESCRIPTION QTY | ITEM PART NO. DESCRIPTION Qarty
— ENA132 Flywheel alternator assembly | 11 N101E16 Flywheel assembly, VH4D ....1

(includes 1-7, 9, 10) evveeerenns 1 | — SE74YA Air shroud, VH4D
1 YB84 Alternator stator assembly ... 1 (not illustrated) ........ccceverurnes 1
2 XB106 Screw, no. 10-32 thread x —_ SE76B11 Lower air shroud, VH4D

17 1ONG .oonveeeereaensrnesansnsssssnsssns 4 (not illustrated) .......oeeeeennnees 1
3 PE14 Lock washer, no. 10 .............. 4 | — N101E16 Flywheel assembly, W4-1770
4 PA340 Roll pin, 3/16" x — SE74YA Air shroud, W4-1770

1-1/8" IONG cevveerrncrurensrsassaassnnnes 2 (not illustrated) .....cc.cecerseennns 1
5 XA35 Screw, 1/4-20 thread x — SE76B11 Lower air shroud, W4-1770

5/8" IONG +ovveerneresaessessesasssnnanas 2 ' (not illustrated) .....c.covueerennennns 1
6 YJ70 Rectifier/regulator module ...1 | — N100D9 Flywheel assembly, VG4D ....1
7 YL393-24 Wire assembly ...cccceeeerriinenenns 1|— SE124AM Air shroud, VG4D
8 BD100K4S1 Gear cover, VH4D ......cccceunee 1 (not illustrated) ........ S 1
— BD100M1S1 Gear cover, W4-1770............. 1 |— SE126A14 Lower air shroud, VG4D
— BD101BS1 Gear cover, VG4D .......ccoveveees 1 (not illustrated) ....c.ccueeerveneenes 1
9 SA163 COVEN cvereeisnseerasennrssssnsssasnenssnss 1
10 XA129 Screw, no. 10 thread x

1/2° 10NG ceeverrernerireenssnsmsmssssrens 3

-14-

Wisconsin Alternators



ITEM PART NO.

~SNoONEsEWN =

[+ <]

SE74YA
N101-10
YJ64

YJ65
BD100K6S1
YL380-14
YB79

XB106

ENB101 (24 Volt - 15 Amp) Flywheel Alternator

USE WITH MODELS MVF4D, MVH4D

DESCRIPTION QTY | ITEM PART NO.
Flywheel shroud ......ccececeneunne 119 PE14
Flywheel .....cccocevcrnresscssscnnnn 1 | 10 PA340
Rectifier module, 24 volt....... 1|1 YD350
Regulator module, 24 volt ....1 | — PD115
Gear cover assembly ............ 1
Wire assembly ......ocensnnrenanens 1| — PE78A
Stator assembly, 24 volt,
) T, TR 1| — XA8
SCTEW .cevveeereneresssssssnsssnassasssass 4

-15-

Wisconsin Alternators

DESCRIPTION QTy
Lock washer, no. 10 .............. 4
RO PiN ceccercercresrrstessiansannas 2
INSUIALOT .ovveinerneeeerneanesissnsnnes 1
Nut, no. 10-32 thread

(not illustrated) ......ccoceervsunnaens 4
Lock washer, no. 10

(not illustrated) .........ccoovreennens 4
Screw, no. 10-32 thread

(not illustrated) .........ccoovurnene 4




ENB101 (24 Volt - 15 Amp) Flywheel Alternator

The flywheel alternator, Fig. 1, is a permanent mag-
net type and has no brushes, commutator, belts or ad-
justments. A series of coils (stator) is mounted to
the engine gear cover, and the magnetic flux is pro-
vided by a permanent magnet in the flywheel which
rotates around these stationary coils. Four compon-
ents make up this light weight — space saving source
of energy: a flywheel with magnetic rotor, stator,
rectifier module and regulator module.

The center-tap rectifier arrangement prevents damage
to the alternator system, in the event of incorrect
battery connection or from arc welding. One half of
the load-producing winding is in series with each
diode, so when the battery is connected in reverse,
resistance of the winding limits the current draw and
keeps it at a safe level, If the incorrect battery con-
nection is not remedied, complete drainage of the
battery occurs, but the rectifier will not be damaged.

In the case of arc welding, the winding acts as a

choke and its inductance prevents the transient volt-

age from damaging the diodes.

PRECAUTIONS to be exercised in the use of this
flywheel alternator:

1. Do Not reverse battery connections. This is for a
negative ground system only.

2. Connect booster batteries properly — positive to
positive and negative to negative.

3. Do Not polarize the alternator.

4. Do Not ground any wires from stator or modules
- which terminate at connectors.

5. Do Not operate engine with battery disconnected
from system.

6. Disconnect at least one battery lead if a fast bat-
tery charger is used.

7. Never use a fast battery charger to boost the
battery output.

WIRING CIRCUIT (Fig. 2)

The fool-proof type connectors used, prevent incorrect
wiring from the stator to the rectifier and regulator
modules. To disconnect plugs, squeeze outer ends of
receptacle and pull apart.

The rectifier and regulator modules are grounded to
the engine and therefore should not be removed and
mounted at some remote location. This is a negative
ground circuit. Connect ground strap from negative
post of battery to starting motor flange, or good clean
grounding surface on engine.

-16-

Wisconsin Alternators



ENB101 (24 Volt - 15 Amp) Flywheel Alternator

REGULATOR

RECTIFIER
MODULE

MAGNETIC
ROTOR

14 GA.

GREEN WIRE couNECT TO
CHARGE SIDE
OF AMMETER

Fig. 1

Wisconsin Alternators

STARTER
SWITCH

i o pi STARTING
= Qe MOTOR
~OPTIONAL-
X SoLENOD /.
+ ¢ STARTING( !

= 24 vOLT
BATTERY

RECTIFIER
MOOULE

RN / USE 10 GA WIRE IF
OVER 36 LONG

DISTRIBUTOR I
DRIVE
?ft‘.
e
Fig. 2, WIRING CIRCUIT — With Radio Suppression

-17-

N



ENB101 (24 Volt - 15 Amp) Flywheel Alternator

SERVICE PROCEDURE:

Examine leads for broken or frayed wires, or loose
connections. If none are found, disconnect battery
and uncouple connectors joining stator and the two
modules. Be sure base of modules is making contact
with a good clean mounting surface on the engine,
free of dirt, oil and grease. This will provide the
necessary ground contact for the modules, as well as
a means of dissipating heat.

TO CHECK STATOR: use an ohmmeter with R x 1
scale (minimum sensitivity of 20,000 ohms/volts),
and check continuity as follows:

AC AC REG.

REG.

AC CT (Center Tap) AC
Red

Black #1 Dark Blue Block #2

NOTE: Wire numbers for probe connections are for con-
venience only and are not indicated on the connectors.

METER PROBE METER REPLACE
CONNECTIONS VALUE STATOR
+ - R X 1 SCALE
Black #1 1o Black #2 | ,: 1.00 ohms O Indicates Shert
Black #1 1o CT 2 .50 ohm Circuit.
Block #2 1o CT o .50 ohm
Block #1 to Red % 2.75 ohms 0 Indicates
Black #2 to Red 1.75 ohm Open Circuit.
Any Pin to Engine [0 0] Any reading indicates
Ground a short circuit,

TO CHECK RECTIFIER MODULE, Part No. YJ-64

The rectifier module can be distinguished from the
regulator by the two black lead wires and identifi-
cation decal. Use an ohmmeter and static check
continuity as follows:

METER PROBE CORRECT REPLACE
CONNECTIONS - METER RECTI: "R
YALUE MODULE
+ P R X 1 SCALE .
Eng. Gnd. to Black #1 5to 15 ohms
Black #1 to Eng. Gnd. o 0] l_ Any read”
Eng. Gnd. to Block #2 5to 15 ohms ’ indicates o
Black #2 to Eng. Gnd. (0 0] T short circui‘.

TO CHECK REGULATOR MODULE,Part No. YJ. ..

The regulator module can be distinguished from the
rectifier module by the lead wire colors, black and
red, and the identification decal, Use a good ohmmeter
and static check continuity as follows:

METER PROBE CORRECT REPLACE
CONNECTIONS METER REGULATOR
VALUE MODULE
b - R X 1 SCALE
Red to Eng. Gnd. o o} Any
Eng. Gnd. to Red (o 0} reading
Red to Black (s ¢] indicates
Black to Red oo o short
Black to Eng. Gnd. [22] circuit,

-18-

Wisconsin Alternators



ITEM PART NO.

o~ AWK =

SE74YA
N101-10
YJ64

YJ65
YD350
BD100K6S51
YL380-14
YB79

Flywheel Alternator (12 Volt - 15 Amp)

DESCRIPTION QTY | ITEM PART NO.
Flywheel shroud .......cccosuennene 119 XB106
FIyWheel .....cocormemenensnnesesesenns 1110 PE14
Rectifier module, 24 volt....... 1T 1 PA340
Regulator module, 24 volt ....1 | — PD115
INSUIALOF ceveeeecrcsrarnennrnrsssssns 1
Gear cover assembly ............ 1| — PE78A
Wire assembly coovveeceriiiineans 1

_ Stator assembly, — XA8
24 volt, 15 @aMP cecveererererasannnnns 1

-19-

Wisconsin Alternators

DESCRIPTION QTy
SCrew ...ccecveeerenee H \aamasanmsssmnsmenis 4
Lock washer, no. 10 .......c...... 4
ROIl PiN et 2
Nut, no. 10-32 thread

(not illustrated) .....cccoeeneeeneenes 4
Lock washer, no. 10

(not illustrated) ......ccoceerreeennnns 4
Screw, no. 10-32 thread

(not illustrated) .....ccccunninennenne 4




Flywheel Alternator (24 Volt - 15 Amp) (Obsolete)

Problem: Low/No Charge

Test 2.0 Conditions and pro-
cedure the sameas
Test 1.0 except the
regulator module is
disconnected.
2.11f the charge rate
increases —

2.2 If the charge rate

does not increase—
Test 3.0 Test conditions

and procedure the
same as 1.0 except
with new rectifier
module plugged in.

3.11If the charge rate
increases —

3.21f the charge rate

does not increase—
Test 4.0 With engine sto
ped, unplug all
connectors between
modules and stator.

Start engine and
run at 2400 RPM,
With AC voltmeter
check voltage be-
tween each of the
black stator leads
and ground.

4.1 If one of the two
voltages is zero or
they are over 10%
apart —

Further testing can be done on the component level
with the engine stopped, and the stator and module

Use an ohmmeter and check continuity as follows:

AC

AC
Black #2

REG.

REG.
Red

NOTE: Wire numbers indicated for probe connections
are for convenience only and are not indicated on the

Possible Couse & Remedy
connections including output lead uncoupled.
TO CHECK STATOR
2.1 Regulator was at fault. AC
Replace regulator module,
2.2 Regulator is not at fault.
Continue with Test 3.0. e
AC -
Black #1
connec .
3.1 Rectifier module at fault. i
Permanently install new
rectifier module. '
3.2 Continue with Test 4.0.
4.1 The stator is faulty
and should be replaced.
-20-

Wisconsin Alternators




Flywheel Alternator (24 Volt - 15 Amp) (Obsolete)

For 10 amp unit STATOR

TO CHECK REGULATOR MODULE, Part No. YJ-60

TO CHECK RECTIFIER MODULE, Part No. YJ-68

%ETER CF:I’RIg:E 35:5: RSFI':I'-I‘GCRE The same Regulator module is used for both the 10 amp
< NNE 2 and 25 amp systems. Use an Ohmmeter and static check
==__0_—_“§_ as follows:
Black #1 to Black #2 | . 2.0 ohms Indicates Short
Black #1 to Eng. Gnd. | & 1.0 ohm Circuit. 'E‘:ETER PROBE METER REPLACE
Black #2 to Eng. Gnd. | & 1.0 ohm +0NNECTIO§S INDICATION MODULE
Black #1 to Red & 3.0 ohms 0O Indicates
Black #2 to Red < 1.0 ohm Open Circuit. Red to Eng. Gnd.| No Continuity Continuity
. Eng. Gnd. to Red
For 25 amp unit STATOR i ro Black
METER PROBE METER REPLACE Black to Red
CONNECTIONS VALUE STATOR Black to Eng. Gnd.
+ = Eng. Gnd. to Black Continuity No Continuity
Black #1 to Black #2 | 44 0.40 ohm
Black #1 to Eng. Gnd. | © 0.20 ohm . AMP OUTPUT regulated by engine speed
& 590 QO Indicates
Black #2 to Eng. Gnd. o 0. ohm open Circuit. MAXIMUM 10 AMP 25 AMP
Black #1 to Red % 3.20 ohms MODEL ENGINE SPEED | SYSTEM | SYSTEM
Black #2 to Red 2.80 ohms
S-12D, §-14D
AENL, TJD 3600 RPM 10 amps 25 amps
STATOR 'DE,':‘T’_F‘CI?T'Om e G et AGND 3200 RPM 10 amps 23 amps
-— a -— w1
10 amp — 3/8” wide flange mp e flange VH4D 2800 RPM 8.cii 20 i
vG4D 2400 RPM - 8 amps 17 amps

The same module is used for both the 10 amp and 25

amp systems. It can be distinguished from the regula-
tor by the three lead wires instead of two and the
identification decal. Use an ohmmeter and static
check continuity as follows:

METER PROBE
CONNECTIONS
+ -

METER
INDICATION

_— ey
No Continuity

White lead to Black #1

Continuity

Black #1 to White lead
White lead to Black #2 No Continuity
Black #2 to White lead Continuity

Note: Continuity shall be in one direction only. If
readings are not as indicated, replace module.

21-

Wisconsin Alternators



Flywheel Alternator (12 Volit - 10 Amp And 25 Amp) (Obsolete)

STATOR
10 AMP - 3/8" FLANGE
25 AMP - 5/8" FLANGE

22-

Wisconsin Alternators



SERVICE PARTS LIST: The following items are in addition to,

Flywheel Alternator (12 Volt - 10 Amp And 25 Amp) (Obsolete)
(For Engines Beginning With Serial Number 5188288) (see pg. 22)

The parts illustration is for the VG4D engine, but can be applied to all models.

or replace similar parts found in the parts manual of each specific engine model.

PART NUMBER PER ENGINE MODEL
REF. DESCRIPTION NO. S$10D, S12D | W2-880 VF4D,
NO. REQ| AENL | AGND $14D THD, TJD VH4D VG4D W4-1770
1 | *Flywheel, 10 amp | 1 N104-5 N103-5 N105-2 N102-5 N101-6 N100-5 N101-17
Flywheel, 25 amp | 1 N104-9 N103-9 N105A3 N102-9 N101-10 N100-9 N101-16
2 Rectifier module 1 |YJE8 YJ68 YJ68' YJ68 YJ68 YJ68
3 Regulator module| 1 |YJ60 YJ60 YJ60 YJ60 YJ60 YJ60
T 4 Gear cover
assembly 1 BD103JS1 | BD100K4S1 | BD101BS1 BD100M1S1
Bearing retainer '
plate 1 | BG344S1| BG343S1| BG350AS1
5 Insulator 1 |YD350 YD350 ¥D350 YD350 YD350 YD350
6 Wire assembly,
10 amp 1 |YL381-6 | YL381-8 | YL381-18 YL381-14 | YL381-18 YL381-22
Wire assembly,
25 amp 1 |YL380-6 | YL380-6 | YL380-18 YL380-14 | YL380-18 YL380-22
7 Screw, 10 amp 4 | XB114 XB113 XB113 XB113 XB113 XB113
Screw, 25 amp 4 | XB110 XB106 XB106 XB106 XB106 XB106
8 Lock washer,
no. 10 4 |PE14 PE14 PE14 PE14 PE14 PE14
9 Roll pin, 10 amp 2 | PA336 PA340 PA368 PA368 PA368
Roll pin, 25 amp 2 | PA362 PA340 PA340 PA340 PA340
10 Stator assembly,
10 amp 1 | YB81 YB81 YB81 YB81 YB81 YB81
Stator assembly,
25 amp 1 |YBB2 YB82 YB82 YB82 YB82 YB82
11 | *Flywheel shroud | 1 |SE158A | SE217H 25;3?2 1w|£| SE135AT | SE7T4YA | SE124AM | SE74YA
PARTS REQUIRED — NOT ILLUSTRATED
* Crankcase 1 | AA91B10| BA54-20
Engine base 1 | BB128A5
Clip 1 | PG630-1 | PG430
Grommet 1 PH198B1
Gasket 1 | QD833
Nut, no. 10-32 thread 4 |PD115 PD115 PD115 PD115 PD115 PD115
Lock washer, no. 10 4 | PE78A PE78A PE78A PE78A PE78A PE78A
Screw, no. 10-32
thread 4 | XA7 XA7 XA7 XA8 XAS8 XAS8

*NOTE: Because of the available variations in Flywheels,

Specification and Serial Numbers when ordering.

23-

Wisconsin Alternators

Flywheel Shrouds and Crankcases — give Engine Model,




Flywheel Alternator (12 Volit - 10 Amp And 30 Amp) (Obsolete)

The improved Flywheel Alternator System (Page 26}, with individual Rectifier and Regulator Modules, replaces this Single Unit Rectifier-
Regulator System. FOR SERVICE: The Stator, Magnetic Rotor, Rectifier and Regulator are not interchangeable, and because of the 10 and 30 Amp
Systems it is necessary that the Engine Model, Specification and Serial Numbers be given when ordering parts.

12 VOLT -710 AMP ALTERNATOR 12 VOLT - 30 AMP ALTERNATOR

TO AMMETER

REF NO. PART NUMBER PER ENGINE MODEL

¥ DESCRIPTION q VE4D,

NO. REQ. | AENL AGND THD, TJD | veap. VH4D VG4D
1 Rectifier-regulator module, 10 amp 1 YJ56 YJ56 YJ56 YJ56
1A Rectifier-regulator module, 30 amp 1 YJ49S1 YJ49S1 YJ49S1 YJ49S1
2 Wire assembly, 10 amp 1 YL379-14 | YL379-14 | YL379-14 | YL379-14 YL379-18
3 Lock washer, no. 10 4 PE14 PE14 PE14 PE14 PE14
4 Screw, 10 amp 4 XB114 XB113 XB113 . XB113
4A Screw, 30 amp 4 XB106 XB106 XB106 XB106
5 * Flywheel, 10 amp 1 N104-5 N102-5 N101-6 N100-5
B5A Flywheel, 30 amp 1 N103 N102 N101 N100
6 Roll pin, 10 amp 2 PA336 PA368 PA368 PA368
6A Roll pin, 30 amp 2 PA340 PA340 PA340 PA340
7 Stator assembly, 10 amp 1 YB72 YB72 YB72 YB72
7A Stator assembly, 30 amp 1 YB67 YB67 YB67 YB67
8 Gear cover assembly 1 BD103JS1| BD100K4S1 | BD101BS1

Bearing retainer plate 1 BG344S1 | BG343S1

*NOTE: Because of the available variations in Flywheels and Flywheel Shrouds (not illustrated) — give Engine Model,
Specification and Serial Numbers when ordering.

-24-

Wisconsin Alternators



Flywheel Alternator (12 Voit - 10 Amp And 30 Amp)
With Individual Rectifier and Regulator Modules

SERVICE PARTS LIST: The follawing items are in addition to, or replace similar parts found in the standard parts manual of each specific engine
model. The parts illustration is for the VG4D engine, but can be applied to all models.

10 AMP - 3/8" FLANGE <l
30 AMP - 5/8" FLANGE 5

-25-

Wisconsin Alternators




Flywheel Alternator (12 Volt - 10 Amp And 30 Amp) (see pg. 25)

REF NO PART NUMBER PER ENGINE MODEL
: DESCRIPTION : S10D, VE4D
NO. REQ., AENL AGND $12D THD, TJD VFAD, VH4D VG4D
1 |*Flywheel shroud 1 | se1saA | se217H | SE30TB1 |spq3paT | SE74YA | SE124AM
. {back plate)
2 |*Flywheel, 10 amp 1 N104-5 N103-5 N105-2 ' N102-5 N101-6 N100-5
Flywheel, 30 amp 1 N104-9 N103-9 N102-9 N101-10 N100-9
3 Rectifier module 1 YJ58 YJ58 YJ58 YJ58 YJ58 YJ58
4 Regulator module, .
10 amp 1 | YJ59 YJ59 YJ59 YJ59 YJ59 YJ59
Regulator module,
30 amp 1 YJ60 YJ60 YJ60 YJ60 YJ60
B Gear cover
assembly 1 BD103JS1| BD100K4S1 | BD101BS1
Bearing retainer
plate 1 | BG344S1 | BG343S1| BG350AS1|
6 Insulator 1 | YD350 YD350 YD350 YD350 YD350 YD350
7 Roll pin, 10 amp 2 | PA336 PA340 PA368 PA368 PA368
Roll pin, 30 amp 2 | PA362 PA340 PA340 PA340 PA340
8 | Lock washer, no. 10 4 | PE14 PE14 PE14 PE14 PE14 PE14
9 Screw, 10 amp 4 | XB114 XXB113 | XB113 XB113 XB113 XB113
Screw, 30 amp 4 | XB110 XB106 XB106 XB106 XB106
10 | Wire assembly, _
10 amp 1 YL381-6 YL381-6 | YL381-18 |YL381-14 | YL381-14 ¥YL381-18
Wire assembly, _
30 amp 1 | YL380-6 | YL380-6 YL380-14 | YL380-14 YL380-18
11 Stator assembly, ;
10 amp 1 YB75 YB75 YB75 YB75 YB75 YB75
Stator assembly,
30 amp 1 YB76 YB76 _ .YB'IG YB76 YB76
PARTS REQUIRED — NOT ILLUSTRATED
*Crankcase 1 | AA91B1 BA54-20
Engine base 1 BB128A5
Clip 1 | PG630-1 | PG430
Gasket 1 QD833
Nut, no. 10-32 thread 4 | PD115 PD115 PD115 PD115 PD115 PD115
Lock washer, no. 10 4 | PE78A PE78A PE78A PE78A PE78A PE78A
Screw, no. 10-32 thread 4 | XA7 XA7 XA7 XA8 XA8 XA8

*NOTE: Because of the available variations in Flywheels, Flywheel Shrouds and Crankcases — give Engine
Model, Specification and Serial Numbers when ordering these parts.

-26-

Wisconsin Alternators




Flywheel Alternator (12 Volt - 10 Amp And 25 Amp) (With Solid
State Regulation) (Single, Two And Four Cylinder Engine Models)

DESCRIPTION of Change

Beginning with engine serial No. 5188288, a new two
module flywheel alternator system replaces the pre-
viously furnished three module system, that included
an isolation diode module, and the two unit system
without the isolation diode.

The isolation diode module was incorporated into the
old system to eliminate battery discharge problems
during shut down, cranking and idling.

INTERCHANGEABILITY

The Regulator module was not changed and is com-
pletely interchangeable between the new and old sys-
tems. The Rectifier module and Stator assembly have
been modified to incorporate the advantages of an
isolation diode without adding a third module. These
new parts are not interchangeable with the old unless
both rectifier and stator are replaced simultaneously.
The new system has a three prong plug connector be-
tween the rectifier and stator — the old system has a
two prong connector.

DESCRIPTION and OPERATION

This flywheel altemator is of the permanent magnet
type and has no brushes, commutator, belts or adjust-
ments. A series of coils (stator) is mounted to the
engine gear cover, and the magnetic flux is provided
by a permanent magnet in the flywheel which rotates
around these stationary coils. Only four components
make up this light weight space saving system; a fly-
wheel with magnetic rotor, stator, rectifier module
and regulator module.

The center-tap rectifier arrangement prevents damage
to the alternator system when arc welding, because
the winding acts as a choke and its inductance pre-
vents the transient voltage from damaging the diodes.

Since the physical appearance of both 10 amp and 25
amp alternator systems are very similar, the 25 amp

vnit can be distinguished from the 10 amp unit by the
ammeter calibrations, and by a 14 gage green wire in
place of a 16 gage red wire, from the ammeter to the
stator-regulator connector.

PRECAUTIONS to be exercised in the use of this
flywheel alternator:

1. Do Not reverse battery connections. This is for a
negative ground system only.

2. Connect booster batteries properly — positive to
positive and negative to negative.

3. Do Not polarize the alternator.

4, Do Not ground any wires from stator or modules
which terminate at connectors.

5. Do Not operate engine with battery disconnected
from system,

6. Disconnect at least one battery lead if a battery
charger is used.

WIRING CIRCUIT

The fool-proof type connectors used prevent incorrect
wiring from the stator to the rectifier and regulator
modules. To disconnect plugs, squeeze outer ends of
receptical and pull apart.

The rectifier is insulated from ground, but the stator
and regulator module are grounded to the engine thru
their mounting surface, The regulator module therefore

_ should not be removed and mounted at some remote
location. This is a negative ground circuit. Connect
ground strap from negative post of battery to starting
motor flange, or good clean grounding surface on
engine.

27-

Wisconsin Alternators



Fiywheel Alternator (12 Voit - 10 Amp And 25 Amp) (With Solid
State Regulation) (Single, Two And Four Cylinder Engine Models)

RECTIFIER

HODULE REGULATOR

MODULE

12 VOLT
BATTERY

L it L e l ==

i. T AMMETER IGTIon

v STARTING [A]

SWITCH
MAKE CONNECTIONS FOR
LIGHTS ETC,, AT CHARGE
REGULATOR SIDE OF AMMETER.

MOBULE ' IGNITION

-7 coiL

STARTING i

MOTOR T HI-TEMP SWITCH
L)

IGNITION
(OPTIONAL) TIMER

WIRING DIAGRAM
For Single Cylinder Models

RECTIFIER
MODULE

REGULATOR

MAGNETIC
ROTOR

12 VOLT
BATTERY

CONNECT TO

CHARGE SIDE -
10 AMP - 16 GA. RED WIRE OF AMMETER

25 AMP - 14 GA. GREEN WIRE

ITION
AMMETER ‘Gsnwn'gﬂ

AT

\ LIGHTS , ETC. AT CHARGE

\ SIDE OF AMMETER.

AUTOMATIC “~—CONNECT EQUIPMENT
CHOKE (OPTIONAL) SOLENOIDS HERE

MAKE CONNECTIONS FOR :
H
1
E
SPARK PLUGS i
4 2 Al i e a
. START
. SWITCH
¥ (OPTIONAL)

SOLENOID
SWITCH
(OPTIONAL)

STARTING MOTOR

DISTRIBUTOR
DRIVE

IGNITION
coi.

HI-TEMP SWITCH
(OPTIONAL)

«f

WIRING DIAGRAM
For Two and Fowr Cylinder Models

-28-

Wisconsin Alternators



Flywheel Alternator (12 Volt - 10 Amp And 25 Amp) (With Solid
State Regulation) (Single, Two And Four Cylinder Engine Models)

SERVICE PROCEDURE:

Prior to electrical testing, a thorough visual inspec-
tion should be made to éliminate conditions that may
be interpreted as a defected alternator. Examine leads
for broken or loose connections, and make sure mo-
dules are securely mounted. The regulator module
must be mounted to a metal surface for grounding pur-
poses, while the rectifier module, although insulated
from ground, should be securely mounted for heat dis-
sipation. The mounting surfaces must be clean and
free.of contaminants, oil, grease, etc. When assured
that the problem is with the alternator, follow the
tests outlined in ‘Trouble Shooting’.

TROUBLE SHOOTING

10 and 25 amp Flywheel Alternator

Problem: Battery Overcharge Possible Cause & Remedy

Test 1.0 With engine running
at full RPM, check
battery voltage w/
DC Voltmeter.

1.1 Regulator not func-
tioning properly. Re-
place module.

1.1 If voltage is over
15.0

1.2 If voltage is under 1.2 Alternator functioning
15 properly. Check bat-
tery condition.

Problem: Low/No Charge Possible Cause & Remedy

Test 1.0 Withengine running
at full RPM, check
battery voltage w/
DC meter. If volt-
age is greater than
14 wvolts, place
* load on battery to
reduce voltage be-
low 14 volts.

1.1 Alternator functioning
properly. Battery was
fully charged.

1.1 If the charge rate
increases —

1.21f the charge rate 1.2 Proceed with Test 2.0,

does not increase—

* Place as many 12 volt
light bulbs across battery
as required to reduce volt-
age below 14 volts.

A carbonpile resistor may
be used in place of bulbs.

-29-

Wisconsin Alternators



Flywheel Alternator (12 Volt - 10 Amp And 30 Amp)
(With Solid State Regulation) (Single, Two And Four Cylinder Engine Models)

This flywheel alternator is of the permanent magnet
type and has no brushes, commutator, belts or adjust-
ments. A series of coils (stator) is mounted to the
engine gear cover, and the magnetic flux is provided
by a permanent magnet in the flywheel which rotates
around these stationary coils. Four components make
up this light weight — space saving source of energy
as illustrated below, a flywheel with magnetic rotor,
stator, rectifier module and regulator module.

The center-tap rectifier arrangement prevents damage
to the alternator system, in the event of incorrect
battery connection or by arc welding. One half of the
load-producing winding is in series with each diode,
so when the battery is connected in reverse, res-
istance of the winding limits the current draw and
keeps it at a safe level. If the incorrect battery con-
nection is not remedied, complete drainage of the
battery occurs, but the rectifier will not be damaged.

In the case of arc welding, the winding acts as a
choke and its inductance prevents the transient voit-
age from damaging the diodes.

REGULATOR
MODULE

RECTIFIER RED LEAD

MODULE \
10 AMP UNIT
(White Lead)
30 AMP UNIT
(Black Lead)

STATOR

—
CONNECT ToO

T
3 CHARGE SIDE
OF AMMETER

10 AMP - 16 GA. RED WIRE
30 AMP - 14 GA. GREEN WIRE

Since the physical appearance of both alternators is
very similar, the 12 volt - 30 omp unit can be dis-
tinguished from the 10 amp unit by the ammeter cali-
brations, and by a 14 gage green wire in place of a
16 gage red wire, from the ammeter to the stator-
regulator connector. Also, by the contrasting colors
of the two lead wires emanating from the regulator
module. The 10 amp regulator has white and red leads,
the 30 amp block and red.

PRECAUTIONS to be exercised in the use of this
flywheel alternator:

1. Do Not reverse battery connections. This is for a
negative ground system only.

2. Connect booster batteries properly — positive to
positive and negative to negative.

3. Do Not polarize the altemator.

4. Do Not ground any wires from stator or modules
which terminate at connectors.

5. Do Not operate engine with battery disconnected
from system.

6. Disconnect at least one battery lead if a bat-

tery charger is used.

7. Never use a fast battery charger to boost the
battery output.

WIRING CIRCUIT

The fool-proof type connectors used, prevent incorrect
wiring from the stator to the rectifier and regulator
modules. To disconnect plugs, squeeze outer ends of
receptical and pull apart.

The rectifier and regulator modules are grounded to
the engine and therefore should not be removed and
mounted at some remote location. This is a negative
ground circuit. Connect ground strap from negative
post of battery to starting motor flange, or good clean
grounding surface on engine.

-30-

Wisconsin Alternators



~ Flywheel Alternator (12 Volit - 10 Amp And 30 Amp)
(With Solid State Regulation) (Single, Two And Four Cylinder Engine Models)

10 ANP - WHITE LEAD
Lt 304MP-SLACK LEAD

WIRING DIAGRAM
For Single Cylinder Models

WIRING DIAGRAM
For Two and Four Cylinder Models

SERVICE PROCEDURE:

Examine leads for broken or frayed wires, or loose
connections. If none are found, disconnect battery
and uncouple connectors joining stator and the two
modules. Make sure mounting face (base of modules),
is making proper contact with engine. It is imperative
that the modules be properly secured to the mounting
surface, since this is their ground connection. Heat
is also dissipated from the modules thru its mounting,
therefore the surface must be clean and free of con-
taminants, oil, grease, etc.

TO CHECK STATOR

Use an ohmmeter with R x 1 scale (minimum sensitivi-
ty of 20,000 ohms/volts), and check continuity as
follows:

AC AC REG,
AC ®eT AC REG.
Black #1 White Black #2 ) Red

NOTE: Wire numbers indicated for probe connections
are for convenience only and are not indicated on the

connectors. k Cintai Tap

-31-

Wisconsin Alternators



Flywheel Alternator (12 Volt - 10 Amp And 30 Amp)
(With Solid State Regulation) (Single, Two And Four Cylinder Engine Models)

FOR 10 AMP UNIT STATOR

METER PROBE METER REPLACE
CONNECTIONS VALUE STATOR
= |R X 15CALE

+

Black #1 to Black #2

Black #1 to CT
Black #2to CT
Black #1 to Red
Black #2 to Red

0 Indicates Short
Circuit.

QD Indicates
Open Circuit.

Any Pin to Engine

Ground

Any reading indicates
a short circuit.

TO CHECK REGULATOR MODULE
Part No. YJ-59 for 10 amp circuit, YJ-60 for 30 amp.

The regulator module can be distinguished from the
rectifier module by the lead wire colors and identifi-
cation decal. The 10 amp unit has a WHITE WIRE and
a RED WIRE leading to the socket connector, whereas
the 30 amp regulator has BLACK and RED lead wires.
Use a good ohmmeter and static check continuity as

follows:

FOR 30 AMP UNIT STATOR

METER PROBE METER REPLACE
CONNECTIONS VALUE STATOR
«~ |RX1SCALE

+
_— e ———————

Black #1 to Black #2| ,; 0.40 ohm
Black #1 to CT © 0.20 ohm .
Black #2 to CT £ 0.20 ohm oA
Black #1 to Red £ 2.20 ohms L3 1
Black #2 to Red < 1.75 ohms

Any Pin to Engine (o 0] Any reading indicates

a short circuit.

Ground

STATOR IDENTIFICATION:

10 amp — 3/8” wide flange 30 amp - 5/8” wide flange

TO CHECK RECTIFIER MODULE, Part No. YJ-58

The same module is used for both the 10 amp and 30
amp circuits. It can be distinguished from the regula-
tor by the two black lead wires and identification de-
cal. Use an ohmmeter and static check continuity as

follows:

METER PROBE CORRECT REPLACE
CONNECTIONS METER RECTIFIER
VALUE MODULE
——— = ———
- " R X 1 SCALE
Eng. Gnd. to Black #1 | 5to 15 ohms |
Black #1 to Eng. Gnd. (@ o] 1 Any reading
Eng. Gnd. to Black #2 5 to 15 ohms | findicates a
Black #2 to Eng. Gnd. 00 ——'short circuit.

METER PROBE ‘2lE€| CORRECT | REPLACE
CONNECTIONS 2|2 METER |REGULATOR
JEE VALUE MODULE
.+ - 2I2|R X 1 SCALE
Red to Eng. Gnd. |x |x co
Eng. Gnd. to Red x |x 00 Any
Red to White x 00 reading
White to Red x 00 indicates
White to Eng. Gnd. (x 00 a
Red to Black x Q0 short
Black to Red x 00 circuit.
Black to Eng. Gnd. x (o8]

-32-

Wisconsin Alternators




DF83 Analyzer

YJ65 REGULATOR

Module is defective if lamp indication is not as specified

Q- < ol
e9. *.‘sr «0 _\1’::*_ ,\0 *1, 4’0 o ;‘\0
AL o Qo AT O SR
) ¥ O ¥ . v \ S Y o =
<& r‘.\qf" v‘b ré d \.r*' +~$¢ \f’ v'}.r\e'
Module Module = oif

—

‘Base Plote | Red Lead

Module Module
2 Red Lead | Bose Plote fx off

Module Meodule
3 Black Lead | Base Plate - off
Medule Module
4 | Base Plote [Black Lesd = On
BLACK LEAD

RED LEAD

YJ68 RECTIFIER

Module is defective if lomp indication is not os specified

< . *: . s
S S S, S S
< <
S/ B A TERN IS
A Y v ~ TS
Modula Either
% Module - off
1| white Leed | 350k Laod
™ =
Module Mo;d:{c o~ Ok
2 White Leod | Block Laod
Either
Module
| gl [wieew | - |
Other
Medule
4 B::::“f_'"d White Leod - o
Medule Module
5 | Bose Plata | White Lead 2 o

BLACK LEAD

BLACK LEAD —
P
BLK.BLK W. '
-'o )

YJ)58 ond YJ 64 RECTIFIER

Module is defective if lamp indication is not as specified

@ < -8 =
S 8 - &' . (+)
S S8 S, S S
VLR IER B IELNIEE
SRE SO T
Either =
Meodule
1 Medule - Off
Bl“k"'_“d Base Plate
Other
Medul
2 Module Bose uPl.au - oft
Block Leod
Either
Medule
3 Bose Plate B1’::iulnl.:ud = On
Other
Medule
4 | Bose Plone | gMotule = On

BLACK LEAD

BLACK LEAD

Wisconsin Alternators

Y156 RECTIFIER/REGULATOR

Module is defective if lomp indication is not as specified

X
A
,fo \:("
YA
‘\‘G T‘QQ'«'\;
Either
Meodule
1 ar:::ul.l:.d Heot Sink - of
Other Module
2 Module ! - Off
Block Laad | %" ¥I"K
| Modute Either
3 5 Module - . On
Heat Sink | gjck Lood
Module Other
4 E Module -, On
Heat Sink Block Leod
Module Module
5 | Heat Sink | Red Leod = off
Module Module
& | Red Leod | Heor Sink - off
Modyle Module
7 | White Lead| Heat Sink - of
Module Medule o
B | Heet Sink | White Lead - "

-33-




DF83 Analyzer

OPERATION

The DF83 Analyzer was developed for testing the
solid state ignition and flywheel alternator compo-
nents as furnished on Wisconsin engines. It is very
efficiently and economically powered by four transis-
tor radio type 9 volt batteries.

Coution: Turn analyzer switch to off position when
not in use, to prevent any unnecessary drain on the
batteries. Do Not allow Indicator Light to burn un-
necessarily for any length of time — the 10 volt bulb
as used in the 36 volt test system will heat up and

burn out.
Heavy duty type batteries should last about one year

with normal use, but it is suggested that periodically
a voltmeter be used to check the battery output —

Test batteries as follows:
Analyzer Black Lead to Red Lead 27 volts —
when voltage drops to 24 volts, replace batteries.

Analyzer Black Lead to White Lead 36 volts —
when voltage drops to 32volts, replace batteries.

To reploce botteries; Remove cover and use a pen
knife to peel off foam rubber insulating tape, so that
batteries can be individually disconnected and re-
moved. Tape batteries together in reassembly.

To remove indicoter lamp; unscrew knurled nut and
pull bulb outward — use exact replacement.

OFF -ON
SWITCH

BLACK
EAD
& [~~~ INDICATOR
LIGHT
T~ CoveR

DF 83 ANALYZER

TESTING PROCEDURES

YJ59 REGULATOR

Module is defective if lomp indication is not os specified

=
S -(\'é' o 4§ O _{\,f ¥ ;;S’
S S LS
1| potrtie | Rod boed - b
2 | Reglend |Boseploe| - -
s | i, ot | iR |8
WHITE LEAD

RED LEAD

YJ60 REGULATOR

Module is defective if lemp indication is not as specified

< N
0 /8 /08 O & 0 <5
A SN A% v
Q:’ é'?'é) ‘_Q .e‘_v ‘S.:Q",Q ‘ey\r QL\‘Q}'Q §°\o
E WL o B VAT
Medule Module
1 | Base Plate | Red Lead - o
Module Module
2 Red Leod | Base Plote - ot
Module Medule | o
3 Block Leod | Base Plate = ! D,
Module Module On
4 | Base Plate Block Lead =

BLACK LEAD

RED LEAD

-34-

Wisconsin Alternators



DF83 Analyzer

YB81 10emp STATOR YB82 25 omp STATOR

ROBIN EY-21W
EY 2107130120 RECTIFIER & .- & e Y
Module is defective if lamp indication is not os specified ! Q,Q' N ..P .\'\'.\_ £ N &L 3
NSRS
s ’ * & DI ESCIES VA ES
S S -\1?-{- KL AN < VALY ALEYALINTAL
£ % v
A S < ] ~AY O Se U
Q ¥ r N T N Stator
(SEET/ I/ IS V| Bleck Leoa | O ; or
o 2 Stetor Qther
1 | raeeiet ‘] Teming & o 2 | Block Load | Cront - on
Bl Brow: Stator
2 Tum‘i:ul Tﬂ:in:l - On 3 Ground Red Lead = On
ellow Stater
3 | raeminet Foal = o 4 Grovnd | Black Leod - On
Stater Other
| ey [28m | = On $ | Grovmd | Bluck Lesd - o
Red Brown
5 Terminal Terminol = oH TERMINAL
6 Brown Red ” on PLUG \
Terminal Terminal TEFRl:ﬁLl;éAL
Red Yell
2 | tormiti) .| Tasming = off
8 Volllou- Rl_'d _ On
Terminal Terminal YB75 10 amp STATOR YB76 30omp STATOR
RED — 3 & < 2
BROWN . o &' &' o (®)
TERMINAL s ORONN o (8 o A O &
A0 R SR S QQ\“‘

YELLOW Lomineted Stater ol

BLUE .
TERMINAL
¢ i TERMINAL 1 = Flonge Block Leas
T i

Lomineted Storor Other
2 = Flonge Block Lead ol

3 Stetor Stater
‘Block Leod | White Lead On

STATORS

The continuity tests for stators is
-not a 100% method of checking. How-
ever, if the stator fails the continuity
tests, it is definitely defective. If it
passes the tests but all other compo-

nents have also checked out 0.K., the stator may be 1 1  TERMINAL
the defective part of the system and should be re- TEPRCRLIIPEAL B(l).ilsu( Ii ‘5 RED | o— PLUG

placed. Test can be made with Stator on engine,

Starer Other Stater
4 Block Lead | White Leod = On

Stater Stator
5 | Red Leod | White Leod On

Stator is defective if lamp indication is not as specified

YBB83 STATOR
3 < <@ & 2 @ @ >/
& o S . & . () A ‘. < 3 & 3
S/ SN L _(\.@ ] ‘4_«.\ oS &S O & 9 ‘,_\\
ARV RN EIIED YA BYEROIEANEY,
K REL/ Fel IS/ AV NV SN TSI
Sreror Sraver - On 1 Lomincted Stotor
1 Blue Leod | Block Leod = Flonge Black Leod’ off
2 Stator Stator On Lomingted | Stator Other
Yellow Leod | Black Leod i (Dim) 2 - Flongs |Block Lead | OF
Srator Staror Stet
3 | Bive Lesd | C7un = ot 3 | Biock Leod | White Lead - On
Stator Svator Other Stat
4 | yellowLead| Srovn? - o 4 | "Block Leed | White Lecd - On
Stater Stet
5 | Redlecd | White Leod = ol
IBLK.RE BLK
TERMINAL~_| © % ?'ﬁ:—“‘;
+——— TERMINAL PLUG
PLUG o o
w_w___J

-35-

Wisconsin Alternators




DF83 Analyzer

YJ49 RECTIFIER /REGULATOR Y169 IGNITION MODULE
Mudule is defective if lomp indication is not &= specified Module is defective if lomp indication is not as specified
e S& e oS
< oA L&A o @ & &
A LS A, A A ‘. < - KS)
Y RIS L S s e LS
& v ) S SFR LY Yo S
LN/ S ) LAY LR S APEOR ‘;xg\..v‘b N vvsp
Either Medule
AC BAT. NEG. - Dim Module Module Case
1| Terminal | Terminel 1| Yellew or - off
Other Module Leod Black Lead .
2 AC BAT. NEG. - Dim Module Module Case Medule On And
Terminal Terminal 2 Yellow or Blue Lead |Remain
Lesod Black Leod [Then Remove | On
Medule Either :
et e R s AR
erming erming cﬂle L‘d
Module Other
4 | BAT, NEG. AC - [s] Module Medule =
Terminal Terminal " 4 Case Blue Lead On
BAT, Either 5 Module Medule I
s | +/RrEc, AC - Dim Cote | Red Leod = of
Terminel Terminal S C
BAT. Other 6 Module " M e - On
6 | +/REG. AC = Dim Red Leod | groci Leod
Terminal Terminel
Either BAT 7 Fe s Module i
7 AC +/REG. - on Lead Red Leod = o
Terminal Terminal
Other BAT. BLUE RED LEAD
8 AC +/REG. - On LEAD TocoiL+ (O 0 0
Terminal Terminal TERMINAL =
Modu .
9 |BATNEG. | Tooral - off BLACK
Terminal LEAD
YJ69 —
YELLOW
LEAD L o 0
AC AC
TERMINAL\ TERMINAL
ROBIN EY-44W
REGULATOR
TERMINAL EY 2087130101 RECTIFIER
Module is defective if lomp indication is not as specified
BATTERY
NEGATIVE BATTERY + & & o SE &
TERMINAL REGULATOR oS LS £/ 0 4 o
™~ TERMINAL e S/ RPN
&/ REES/ TS ) FEE
YJ 67 ISOLATION DIODE 2 | sud | Ble | o
Module is defective if lamp indication is not os specified
Yiolet
< e N 3 Stud - oft
Y '\’{r, ,‘0 ‘v@ & 15,’@- “Q" ‘\\o Termina!
':'é ‘,\;\Q K ‘_\J“_c-*"_o LAY S8 {3y F Siud Violet e
S Terminal =
e W& & v ¥ ‘_‘;'P*\e- Y \‘\Q ermin
Gray Light Blue
Module Meodul 5 2 - off
1] reg Cend | white Lasd & ot Termingl | Tarminel
Light Blue Grey
2 Wi:"‘jf:gd ;::‘:L:d o On é Terminel Terminal = On
G Vielet
3 Module Module o 7 | Terminel Terminal = i
White Leed | Bese Plate =
Violer Gr
8 Tcrlmi:ul Tlrm“x':ui - 0
RED LEAD
ET —* LIGHT BLUE
s — VG HERMRAL
i
STUD @ “I GRAY TERMINAL

WHITE LEAD

-36-

Wisconsin Alternators




